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GENERAL INSTRUCTIONS:

1. This question paper has 5 sections ‘A’, ‘B’, ‘C’, ‘D’ and ‘E’.

2. Section A has 20 MCQs carrying 1 mark each.

B. Section B has 5 questions carrying 2 marks each.

4. Section C has 6 questions carrying 3 marks each.

D. Section D has 4 questions carrying 5 marks each.

6. Section E has 3 Case Based questions carrying 4 marks each.

y. All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2
questions of 3 marks and 2 questions of 2 marks has been provided. An internal choice
has been provided in the 2 marks questions of Section E.

. 22 B A

Draw neat figures wherever required. Take m= v wherever required, if not stated.

9 Use of calculator is not permitted.

10. Please do write down the serial number of questions before attempting it.
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Section-A consists of 20 questions of 1 mark each,
The median of a set of observations is that value which
(a)  occurs most frequently

(b) is the sum of observations

(c) is the average of the observations

/(9 which divides the distributions into two equal parts

4 v\
If cos A — g , then the value of tan A is : k !
-

3 ' o

@) ® =
e i h

4 5 Y

3 d s & : @ >
) s (bt a)e

1 1 ad
Given that sino. = B and cosf3 = 5t then the value of a + P 1s: !
T
(a) 0" b) 30° ° \
2 B0
(o d) 90° ;,r% '\
The zeroes of the quadratic polynomial 2 + (m + 3) X + (n - 5) are —4 and -3. The values
of m and n are : ‘ 1
(a) m=6,n=25 (b)) m=-6,n=25
¢ m=-9,n=15 d m=6n=-15
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10.

For some integer m, every even integer is of the form :

(a) m 2 m =l

(¢) =2m [ 2niEs]

All circles are :

(b) similar h
7~
@ eaul

and R, is equal to the area of the circle
1

(a) congruent
(c) both similar and congruent

If the sum of the areas of two circles with radii R,
of radius R, then :

(D) PREEERERE

% R,+R,=R
| N
) R,+R,>R’ (d R2+R2<RS
The HCF of the smallest composite number and the smallest prime number is : 1
(a) 1 }%/2
(c) 3 (d)
The zero of the linear polynomial p(X) —ax +bis: 1
a —a
Ld by e
@) = (D) o
b —b
©) = d —
a == ¥4
Every rational number is : : 1
(a) a natural number (b) an integer
P | :
(c) areal number (d) awhole number
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11.

12.

14.

In the given figure, the area of the segment APB is

(a) i(ﬁ-—\/};)r:
o [-5)F

The pair of equations x =0 and x =5 has :
(a) no solutions

(c) two solutions

If the distance between (4, p) and (1, 0) is 5 units, then p =

(a) =4

(c) 4

Graphically, 7x —y =35 and 2Ix —3y= 10 represent two lines which are :

(a) intersecting at one point
- _’/’

(b) parallel
(c) intersecting at two points

(d) coincident

&

4
]
unique solution
infinite solutions
1
0
1
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16.

18.

' The ratio of corresponding sides of two similar triangles is 4 : 9. What will be the ratio of

arcas of these triangles? '
@) 23 (by 49

(c) 8I:16 (dy 1681

The perimeter of the triangle formed by (0, 0). (1. 0)yand (0, 1) s : :
@ 1£\2 (b) Y241

) 3 d) 242 T A

>
If one zero of the quadratic polynomial x? +3x 4k is, 2 then the value of k <

The HCF and LCM of two numbers is 9 and 360 respectively. If one number is 45, then

the other number is: i
(a) 18 ' (b) 36

(c) 54 d 72
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Directions for Q.No. 19-20 :

Qucstion No. 19 and 20 have two statements = Assertion (A) and Reason (R). Choose the

correct answers of these questions from the options (a), (b), (€) and (d) given below:

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are correct but Reason (R) is not the correct

explanation of Assertion (A).

(c) Assertion (A) is correct but Reason (R) is wrong.

(d) Assertion (A) is wrong but Reason (R) is correct.

Assertion (A) : The point (-1, 6) divides the line segment joining the points (-3, 10) and
(6, —8) in the ratio 2:7 internally. ]

Reason (R) : If three points A, B, C form an equilateral triangle, then AB =BC = AC.

The HCF of two numbers is 5 and their product is 150. Then their
1

‘Assertion (A) :
LCM is 40.

Reason (R) : For any two positive integers, a and b, HCF (a, b) x LCM (a, b)=axb.

1 X-MATHS-E
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*‘ SECTION-B
Section-B consists of 5 questions of 2 marks each.
. Find the zeroes of the quadratic polynomial 1x”> -2 and verify the relationship between
zeroes and their coefficients. y)
Find a point on the x-axis which is equidistant from the points (7, 6) and (-3, 4). 2
; In the given figure PQ|[RS, 3PO =250 and OR = 9 ¢m, Find OQ. 2
OR
In AABC, DE||BC, AB = 10.5 cfn, AE = 4.5 cm and AD:DB = 1:4. Find EC and DB.
Fér what value of k the follc)wihg system of linear equation has no solution: 2
X+ 2% =3
k-1)x+k+1)y=k+2 ‘

’ 5. Find the perimeter of the shaded region in the figure where ABCD is a square of side
A 14 cm and APB and CPD are semicircles. . 2
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26.

27.

28.

OR

Find the radius of a circle whose area is equal to the sum of the areas of three circles

having radii 3 cm, 4 cm and 12 cm.

SECTION-C

Section-C consists of 6 questions of 3 marks each.

1| PG
Prove that f is irrational.

Find the number of revolutions made by a circular wheel of area 1.54 m" in rolling 2

distance of 176 m. 3

From a point P on the ground, the angles of elevation of a 10 m tall building and of a

helicopter hovering at some height over the top of the building are 30° and 60°

respectively. Find the height of the helicopter above the ground. 3

One zero of the quadratic polynomial 3x? — 8x + 2k +1 is seven times the other. Find the

value of k. 3

OR

If o and P are two Zeroes of the polynomial 21y’ —y—2, find a quadratic polynomial

whose zeroes are 20 and 2.

Two years ago, Salim was thrice as old as his daughter and 6 years later, he will be four

years older than twice her age. How old are they now? 3

15
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32.

83,

34,

Find value of x for the following :
2 o) :
3tan” 60° —xsin® 45° 4 -3—Scc2 30° = 2cosec’30°

OR

Prove :
(sin A +cosecA)? + (cosA +secA)? = 7 + tan> A+ cot” A

SECTION-D

Section-D consists of 4 questions of 5 marks each.

Find the area of the quadrilateral formed by joining the vertices (1, 7), (4, 2), (-1, —1) and

i 1]

(-4, 4).
OR

Find the coordinates of the points dividing the line segment joining the points A(—4, —6)

and B(-1, 7) into four equal parts.

Find the solution of the pair of equations 2x —y = 1 and x + 2y = 13 from the graph.

N

Also, shade the triangular region formed by the lines and y-axis.

N

If cos®+ sin® = p and secO+ cosecd =q then prove that q(p* —1)=2p.

R
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The median of th . i
¢ following data is 525, Find x.and y if the sum of

400-500

is 100.

Class | 200300 T 3054050
Interval

Frequency 16 ™

17

Find the mode of the following distribution of marks obtaine

OR

500-600

20

600-700

15

all frequencies

5

L 700-%00

d by students in an

examination. Given the mean of the above distribution is 53, find the value of its median.
Marks obtained 0-20 20-40 40-60 60-80 80-100
Number of students 15 18 21 29 17 ]
SECTION-E

Section-E consists of 3 case based questions of 4 marks each.

A boy is standing on top of light house. He observed that bo

at P and Q are approaching

the light house from opposite directions. He finds that angle of depression of boat is 45°

and angle of depressi

100 m.

<

S

\oo("\

19

on of boat Q is 30°. He also knows that the height of light house 1s
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37.

Based on the above information, answer the following questions:
(i)  Draw a figure for the given situation.

(i)  How far is boat P from li ght house?

(iii) How far is boat Q from light house?

OR

Find the length of AP.
Sonam has some empty-space in the backyard of her house. She chooses a triangle

shaped corner in the backyard for plantation. She divides the triangle into three parts as

shown in the figure and grow some flowers in it. The dividing walls are made of bricks

and parallel to each other.

e -

Based on the above information, answer the following questions:

(i)  Show that APQR ~ APAB. 2 |
OR I
Find CD, if APQR ~ APCD. '
(ii)  Find the ratio between the corresponding sides of APAB and APCD. 1
(iiiy If PB = 8 m, then find BR. | | 1

21 X-MATHS-E



The following t
ey the age distribution of patients

pospital : !

Y

“Age (inyears) | 5.15

15-25

\No.of cases - 6

11

\-"/l:.

admitted dunng 3 day 1 2

Based on thg above information, answer the following questions:

(i)  Find the median class.

(i1) Whgt is the upper limit of modal class?

(111) Find the mean age of the patients.

Find the modal age of the patients.

OR

23
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